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Exam 
CSCW 

 
January 16th, 2020 

 

 
You have 90 minutes to work on the exam. You can reach up to 90 points. The 
information on the points provided with each question gives you a hint on how 
much time you should invest to write an answer. 
You can give the answers to the exam tasks either in English or in German. All 
your answers have to be in one and the same language throughout the whole 
exam. 
Do not use your own paper sheets, but only the ones provided in the exam. 
Please, put your matriculation number on each paper sheet.  
If you have to make any assumptions, highlight and/or describe them accordingly. 
 

Good luck! 
 

Section 1 2 3 4 5 6  Σ 
Points possible 8 16 20 14 18 14  90 

Points reached         
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Section 1:  
Collaborative Technologies – The 3C-Model 
 (8 points) 

Consider the following for this section: In the introduction lecture we discussed 
the classification of collaborative technologies. The 3C-Model allows you to group 
cooperation scenarios by interaction modes.  

 
Question 1.1 
(8 points) 

 
Fill out the 3C-Model by placing the technology categories from the list below in-
side the model. Give a short explanation about the placement of each category 
and a concrete example for a tool (e.g., software). (See example below) 
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Conferencing system  
• Explanation: 

The purpose of such systems is to enable comminucation within an or-
ganization (e.g. voice, video, screen sharing options) 
 

• Example: 
Skype for Business 

 
 
Shared information space 

• Explanation: 
 
 
 

 
 
• Example: 

 
 
 
 

Group editors 
• Explanation: 

 
 
 
 
 

• Example: 
 
 
 
 

Message systems 
• Explanation: 

 
 
 
 
 

• Example: 
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Workflow management 

• Explanation: 
 
 
 
 
 

• Example: 
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Section 2:  
Dyads and media richness 

 (16 points) 
Consider the following for this section: In the lecture, we were talking about prob-
lems occurring when two people are working together and how media can help 
here. When solving Homework 1 you made also many experiences when design-
ing a doctor-patient communication. In the following, refer to the lecture slides on 
media richness and your experiences in the group work and daily life. 

The following figure shows the model of Media Richness Theory. Read the sce-
nario below and answer the questions 2.1 and 2.2.  

 
Daft, R.L., Lengel, R.H.: Organizational Information Requirements, Media Richness and Structural Design. Manage-
ment Science. 32, 5, 554–571 (1986). 

Scenario of a doctor-patient encounter: 
Jake, a 53-year old male patient suffers a fall from his bicycle and has sharp pain in 
his wrist. Therefore, he wants to schedule an appointment with his general practi-
tioner (GP) Dr. Anna Hoffman. He calls the GP’s secretary who offers him an appoint-
ment for the next day. 
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The next day at the doctor’s, Jake is asked about his condition. He explains what 
had happened and shows Dr. Hoffman where it hurts in his wrist. The doctor x-rays 
the patients lower arm, however she doesn't have time to look at the x-rays and 
discuss the results straight away but promises to call Jake in the afternoon with a 
diagnosis. 
Unfortunately, Jake is not available and Dr. Hoffman leaves him a voice mail: “Dear 
Jake. I have your x-ray in front of me. Eghm... I cannot really identify the cause of 
your pain. Possibly a hairline fracture of the radius… but hmm… could be a tear in 
interosseous membrane… yeah I suggest you go visit Dr. Jane Flanders to further 
investigate your wrist”. Due to medical nomenclature Jake did not understand much 
of the voice mail but he visits Dr. Flanders. She is a specialist orthopedic surgeon 
who Jake only sees very briefly before she orders a CT (computer tomography) of 
the wrist and quickly runs back into the operating room. 
The results of the CT scan arrive in the mail 2 days later with an image and a diagnosis 
meant for the general practitioner, which Jake can't understand. He continues to take 
his pain medication he received from his GP and after a couple of weeks the pain in 
his wrist is completely gone. As agreed with his GP, Jake meets Dr. Hoffman again 
to catch-up on his condition. He tells his doctor that he is all well again and Dr. 
Hoffman says that she believes it was just a bone bruise. 
 
Question 2.1 
(8 points) 

Identify the different media used during the interaction in the above described 
case. Clearly mark each medium in the model above (e.g., by numbering every 
medium) and explain your decision. (Please note: Not all tables below need to be 
filled out; it is your task to choose the adequate number of various media) 
 
Medium 1: 
 
Explanation: 
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Medium 2: 
 
Explanation: 
 
 
 
 
 
 

 
Medium 3: 
 
Explanation: 
 
 
 
 
 
 

 
Medium 4: 
 
Explanation: 
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Medium 5: 
 
Explanation: 
 
 
 
 
 
 

 
Medium 6: 
 
Explanation: 
 
 
 
 
 
 

 
Medium 7: 
 
Explanation: 
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Medium 8: 
 
Explanation: 
 
 
 
 
 
 

 

Question 2.2  
(8 points) 

Identify two media from the above case where the communication between 
Jake and the health care providers (e.g., Dr. Hoffman) did not fit the complexity 
of the communication task. Make a suggestions for each identified mismatch 
and explain shortly how Media Richness Theory helps. 
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Page intentionally left blank. 
Use it for your answers. Indicate the number 
of the question you are answering. 
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Section 3:  
Addressing Group Effects in Small Groups 
 (20 points) 

Consider the following for this section: During the lecture and in Homework 2 we 
covered extensively group effects and different modes of group work. You were 
able to identify group effects and how to overcome critical incidents in your small 
team collaboration. 

The following transcript illustrates a collaboration session between Lisa, Andrea, 
Bob and Frank who work together in the IT department of a Swiss Bank. Read it 
carefully and make assumptions if needed (clearly indicate where you make which 
assumption). We provide line numbering on the left for a more convenient refer-
ence.  

Lisa, Andrea, Bob and Frank are working on a software-project together and before 
Christmas they are meeting to discuss the project plan for the year 2020.  
Lisa: Hi all! We need to discuss the project plan for the software deployment in De-
cember 2020. 
Frank: I believe we should define the work packages first including the timeline. I 
propose that we should have finished the requirements analysis at the end of March.  
Lisa: I totally agree. It is necessary that we have the requirements completed within 
Q1. 
Andrea: I agree as well but the guys from the business unit told me they are pretty 
tight on resources in Q. They think it is almost impossible to define all the require-
ments. 
Frank: But still it is very important to reach this milestone by the end of March. We 
can surely make it somehow happen. Do you agree?  
*Lisa, Andrea and Bob agree with Frank by nodding and saying “Yes agreed”* 
Andrea: Good! So, this means, that IT can start with the programming latest by mid-
April. They having a pretty standard procedure. It will take them approximately until 
September for the development of the new features. Testing will run through October 
and November so there will be a buffer of 2 weeks until the deployment. 
Lisa: We only need to keep in mind that the budget for the new features is very tight 
and senior management will not tolerate if we exceed the spending limit.  
Andrea: Don’t worry about that. I now some of the features are costly but we as a 
project management group will for sure be able to keep everything within the budget. 
Frank: Surely we will manage this challenge together.  
Bob: Great so this would be all then, right? Great meeting guys. See you next year. 

1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
11 
12 
13 
14 
15 
16 
17 
18 
19 
20 
21 
22 
23 
24 
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Question 3.1   
(6 points) 

Refer to the conversation between the group members. Identify three group ef-
fects and link them to the text (refer to the line numbering). Also, quickly explain 
them. You can make assumptions but clearly state where you make them.  
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Question 3.2   
(3 points) 

In the lecture we also covered the concept of shared editing. In the meeting 
above, the group uses Google Docs. Explain the differences between pessimistic 
vs. optimistic concurrency. Which form of access control is implemented in 
Google Docs and how? 

 

 
 
 
 

Question 3.3 
(11 points) 

Now think again of the above discussion of the group. They work mostly distrib-
uted but synchronously on their project. Where do you see problems of aware-
ness in this remote set up?  

a) Identify at least 3 problems/limitations of awareness. 
 
 
 
 
 

b) Describe how Google Docs as a tool for distributed collaboration can 
help with those limitations of awareness. Identify the relevant design ele-
ments in the figure below. 

 
 
 
 
 
 
 



Matriculation Number 

 
 

Page 14 of 30 

 
 
 

 

 

  



Matriculation Number 

 
 

Page 15 of 30 

Section 4:  
Engineering Collaboration in Large Groups 
 (14 points) 

Consider the following: During the lecture and the homework, we introduced the 
Collaboration Engineering approach. It relies on the assumption that collaboration 
activities can be predefined and scripted in a way that (almost) guarantees for the 
desired output. We have extensively discussed the underlying concepts (six-layer 
model of collaboration, ThinkLets, facilitator) in the lecture and you had an oppor-
tunity to apply your knowledge in Homework 3. You also participated in a 
ThinkTank session. While taking together all your expertise from those sources, 
please, solve the following tasks.   

Background story:  
You are the CEO of a Zurich-based startup that is specialized in blockchain-applica-
tions for the financial industry. Since the foundation in 2015 you hold an annual meet-
ing with all employees to discuss the strategy for the next year. The outcome is usually 
a rated list with strategic options that are taken up by you and the rest of the executive 
board to follow up with a concrete implementation plan.  
Over the years, your company grew so much that holding the meeting in a offline and 
unstructured manner does not work anymore. A friend from UZH who took CSCW 
during her studies recommends collaboration engineering to you as a suitable tool to 
organize this year’s meeting. 
The meeting starts with an open feedback session where all employees put cards 
with comments on white boards with one of the strategic goals from the previous 
year as a title on it. After reading through the comments, all participants take a card 
with a strategic goal and place them on one of the pin boards to rate the completion 
on a scale from ongoing to almost achieved to achieved.  
Following the review of last year’s goals, your company ideates potential strategic 
goals for the next year. For this, the 30 participants write their ideas on one of the 32 
sheets and toss them in the middle to exchange them among each other’s. During 
the break, the facilitator categorizes all the ideas into topics that are rated after the 
break to decide on the importance of each proposed goal. The meeting is closed 
with an Apéro. 
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Question 4.1   
(14 points) 

Your friend helped to prepare the workshop to define the strategy for the next 
year*. Unfortunately, you cannot read her handwriting and need to fill some of 
the fields by yourself. Fill in all fields in the table below. Provide an explanation 
for your choice for the fields with the pencil icon (    ). 

*If you are struggling with the collaborative behaviors, have a look at the set of relevant ThinkLets provided 
on the separate sheet of paper entitles “ThinkLets Cheat Slip” (no need to employ all provided ThinkLets; you 
are also allowed to create your own ThinkLets – to do so provide the overview, inputs, and outputs; you are 
also allowed to combine the ThinkLets to one collaborative behavior).  

Layer Content 
Collaboration Goals Agree on most important strategic options for the next year 

Group Products A rated list with strategic options for the next year 

Group Activities Discussion of last year’s 
strategic goals  

Collection of ideas 
for next year’s stra-

tegic goals 

Rating of the strate-
gic goals in regards 
of their importance 

Group Procedures  Evaluation of completion 
of every strategic goal 

Generate ideas for 
the strategic goals, 
clarify comment by 
reading and shortly 
discussing with 
peers, organize 
ideas in topics  

 

Collaboration Tools 
(conventional,  

non-IT) 

Cards to write com-
ments on and white 
board with strategic 
goals to pin cards on 

Cards with every strate-
gic goal on it and 3 
buckets with different 
categories 

 
Sheet for every stra-
tegic goal and a vot-
ing scale from 1 to 5 

Collaborative  
Behaviors LeafHopper  

FreeBrainstorm 
 
ReviewReflect 
 
PopcornSort 
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Section 5:  
Model of behavioral problems and theories in social 
networks  
 (18 points) 

Consider the following: In the lecture, we discussed the model of behavioral prob-
lems and theories in social networks. In particular we discussed hygiene factors 
in different social networks (e.g., Facebook). On the next pages, you will find 
screenshots from LinkedIn. While referring to the lecture and your own experience 
with social networks, answer the following questions. 

Question 5.1  
(6 points) 

a) Provide a definition of social capital and list at least 3 positive outcomes of 
social capital. 

 
 
 
 
 
 

b) How do social network and online communities differ from each other in re-
gards to social capital. 
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Question 5.2  
(12 points) 

a) On the screenshots below, clearly indicate all design elements that consider 
social capital and shortly explain their mechanism. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



Matriculation Number 

 
 

Page 20 of 30 

b) Propose one modification to the platform concerning social capital and ex-
plain how this helps to improve the dimension. 
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Section 6:  
        Engineering collaboration in organizations 
 (14 points) 
 
Consider the following: In the lecture on dyads we discussed the effects of IT on 
advisory services (e.g., bank advisory, travel agencies). Read the case below 
carefully and answer the questions while referring to the lecture and your own 
experience with social networks, answer the following questions. 
 
Thomas Cook Bankruptcy – New York Times Article published on September 23th 

 
 
After 178 years of operation, the British tour operator Thomas Cook, one of the 
world’s oldest travel brands, with 19 million annual customers, closed shop on 
Monday. The company announced that it would be liquidating its assets and filed 
for bankruptcy, despite attempts to rescue the brand. 
 
At the moment of its collapse, Thomas Cook had a debt of 1.7 billion pounds, 
about $2.1 billion, an amount the chief executive, Peter Fankhauser, had called “in-
surmountable.” It had been in negotiations to obtain $250 million in emergency fi-
nancing when it declared bankruptcy. 
 
About 600,000 travelers around the world were affected, 150,000 of them from the 
United Kingdom and about twice as many from Germany, said the airline industry 
analyst Bob Mann, and more than 20,000 employees worldwide found themselves 
without a job. 
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Question 6.1  
(2 points) 

At a time when more people than ever are traveling, how could an established 
brand like Thomas Cook implode? What role did information technology play in 
this development?  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Questions 6.2 
(4 points) 

Propose one solution how travel agencies can enhance their advisory services 
with IT in regards to information quality. Refer to the picture below you know 
from the lecture on Communities and Social Networks to specify how your solu-
tions supports information quality in advice giving. 
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Question 6.4 
(8 points) 

In the lecture on organizations we talked about different ways to develop col-
laborative systems. Especially, we looked at the scenario-based development. 
Create an activity scenario for your solution. 
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